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What is the central goal of using SAP HANA?
 
Please choose the correct answer.
 
Response: 
 
 
A. Accelerate Performance 
B. To set Priorities for system 
C. Positive Impact on Business 
D. Monitor database for record keeping 
 

Answer: A

 

 

 
What are the features associated with ABAP CDS?
 
There are 3 correct answers to this question.
 
Response: 
 
 
A. Distribution 
B. Export 
C. Read 
D. Update 
E. Create 
 

Answer: C,D,E

 

 

 
Which is the new concept that is introduced and improved by using SAP HANA Specific
Features?
 
Please choose the correct answer.
 
Response: 

Question No : 1

Question No : 2

Question No : 3
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A. New advanced SQL syntax Procedures 
B. ABAP-Managed Database Procedures 
C. Programming model 
D. Table buffering 
 

Answer: B

 

 

 
Discuss different types of engines associated with The SAP HANA architecture?
 
There are 2 correct answers to this question
 
Response: 
 
 
A. Join engine 
B. OLAP engine 
C. Analytic engine 
D. OPAX engine 
 

Answer: A,B

 

 

 
Which form of services is responsible for defining and consuming semantically rich data
models?
 
Please choose the correct answer.
 
Response: 
 
 
A. Conditional services 
B. Modell-II services 
C. Core Data Services 
D. ITe services 
 

Answer: C

 

 

Question No : 4

Question No : 5
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When using ABAP Database Connectivity (ADBC) to issue native SQL calls to the
database, which of the following methods of class CL_SQL_RESULT_SET retrieves the
tabular result of the native SQL call?
 
Please choose the correct answer.
 
Response: 
 
 
A. SET_PARAM_TABLE 
B. GET_METADATA 
C. NEXT_PACKAGE 
D. SET_PARAM 
 

Answer: C

 

 

 
How will you hide the attributes that are not required for client consumption?
 
Choose the correct answer
 
Response: 
 
 
A. By setting the hidden property flag of the attribute in the View 
B. By setting the hidden property flag of the attribute column 
C. By setting the hidden property flag of the attribute in the Semantics screen 
D. By setting the hidden property flag of the attribute provider 
 

Answer: C

 

 

 
You have defined the following SQLScript procedure: 
 
CREATE PROCEDURE LANGUAGE SQLSCRIPT SQL SECURITY DEFINER READS
SQL DATA
 

Question No : 6

Question No : 7

Question No : 8
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Which type of database procedures can be called in this SQLScript procedure? 
 
Please choose the correct answer.
 
Response: 
 
 
A. Write only 
B. Read only 
C. Read-update 
D. Read-write 
 

Answer: B

 

 

 
What made SAP HANA possible?
 
There are 2 correct answers to this question.
 
Response: 
 
 
A. CPU with single core network 
B. Improved hardware technology 
C. Technology and innovations 
D. RAM limitation 
 

Answer: B,C

 

 

 
What views will be most efficient for General Modeling Principles?
 
There are 2 correct answers to this question
 
Response: 
 
 
A. Schema view 
B. Attribute view 
C. Analytical view 

Question No : 9

Question No : 10
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D. Column view 
 

Answer: B,C
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